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THEL | A7 - 8FE KEIE (BV) SMERMHE TR

TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! iR
BT HE =X 1 118, 146, 892
Al 2 1 159, 639
B ik s T = 1 57,036 |v=)v) B EOEE 4.2 m
ik - R
A E T 2 1 102, 603 |~ —A7" V=M EE 34 T
BlyGmaE T = 1 91, 301, 158
T gL gt = 1 91, 301, 158 |FEHFHIE 1, 340 m2
2@y (@ TR EFTEOHA) ;
25 T PR I ALL B 1, 340 m2
PAE A A B S5 WAL ER |
PhghatE (18 B) 1, 340 m2
MR XV RTRE SRR L
PhesatE 2B B) 1, 340 m2
MR XV RTRE SRR L
R 1, 340 m2
FHARI 5o FEAEEREL 12T -n-7- Y B
EIE G EI
k% 1, 340 m2
FHARI 5o FEAEREL 12T -n-7- Y B
EIE G EI
B E 6,714 m2
BEIEW) TE 8, 540 kg
PCB-#h & Ak
BEFEM LSy 8, 540 kg
PCB-$R & RS ;
% T = 1 26, 686, 095
% T X 1 20,599, 620 |23 820 m2
(&[]
28 Y

-1- E taZ@d Ui R




il
W
>
%
T

THEL | A7 - 8FE KEIE (BV) SMERMHE TR

TEHX4y « Tfd - FER B Az W B & HH i il A R
BV VT 900 m2
(7]
T 2 R BIEA T
MRER 900 m2
(7]
AEEHE T Y 1 2,264, 800 | AWk B Y B 1 =
(7]
VRIEEHIEEIE < @B 15 T A 1 3,821,675 | MRBEHIEEIT < ZEBH 1%t 5 1 eV
[ERAE Xy = 1 118, 146, 892
HiE 2 2 1 28, 497, 420
HiE R = 1 8, 054, 420
ety # 1 5,441, 240 | NN AR BA 2 1 X
HeffrE sy = 1 63, 180 | 18 & fiti i FeAST —FVERK E 1 =
BGRESGESE (5 L) = 1 2, 550, 000
B (FEHL) = 1 20, 443, 000
T = 1 146, 644, 312
Bl gy 2 1 58, 309, 000
T =5l = 1 204, 953, 312
— R A 2 1 31, 836, 688
TS 2 1 236, 790, 000
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